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QUESTION 1

In a Manufacturing Cloud post production support environment, a user wants to update some of the
operations in the work orders by using the Midpoint Scheduling feature. However, the user is unable to
update any of the orders.

Identify two reasons.

A. The work order operations do not have operations start or completion date.

B. The scheduled resources are not part of the organization selected by the user.

C. None of the operations include scheduled resources.

D. The operations are missing sequence.

Correct Answer: CD

QUESTION 2

Work order costs are computed based on material and resource transactions reported and the cost method of the
product. In a manufacturing plant, the production operator has completed a work order WO0O01 ensuring proper
materials and resource transactions. The materials are costed and resources are defined with rates. A cost accountant
has created cost accounting distributions. Upon reviewing the accounting distributions of the work order WO-001,
resources charged to the work order are missing. Identify the Concurrent Request that needs to be submitted to transfer
resource charges to cost accounting.

A. Create accounting

B. Transfer Transactions from Production to Costing

C. Transfer Transactions from Inventory to Costing

D. Transfer Costs to Cost Management

Correct Answer: B

QUESTION 3
The Manufacturing plant has two 8-hour shifts for the work center WC1: Day Shift and Night Shift. You associate four
units each for resources R1, R2, R3, and R4 to the work center WC1. The customer wants to assign all units of

resource R2 available for Day and Night Shift. Identify the correct sequence of steps to achieve this requirement.

A. Associate Resource R2 with Work Center WC1> Select Available 24 Hours check box> Resource Availability region>
Enter 4 in Day Shift Column> Enter 4 in Night Shift Column.

B. Associate Resource R2 with Work Center WC1> Deselect the Available 24 Hours check box> Resource Availability
region> Enter 2 in Day Shift Column> Enter 2 in Night Shift Column
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C. Associate Resource R2 with Work Center WC1> Select the Available 24 Hours check box> Resource Availability
region> Enter 2 in Day Shift Column > Enter 2 in Night Shift Column.

D. Associate Resource R2 with Work Center WC1> Deselect the Available 24 Hours check box> Resource Availability
region> Enter 4 in Day Shift Column> Enter 4 in Night Shift Column.

Correct Answer: C

QUESTION 4

Which entity should you use to configure the manufacturing plant in Functional Manager?
A. Legal Entity

B. Plant

C. Organization

D. Business Unit

Correct Answer: B

QUESTION 5

An employee is responsible for dealing with different manufacturing practices and processes, machines, tools and
equipment that turn raw material into a product. Which seeded job role must this employee be provided with?

A. Manufacturing Engineer
B. Production Engineer

C. Production Operator

D. Manufacturing Supervisor
E. Production Supervisor

Correct Answer: A
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